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T ff | B | & 5 HAL | % B | HMAEXE| M =%
REFHIN
LS T gyl [ t=15emPLF 5. 05+5. 55+9. 8+5. 0+4. 20 m 29. 6 30
AfEEUE L [ t=15emPL T 430. 05+529. 60 m2 959. 65 960
NS 430. 05+529. 60 m2 959. 65 960
= t=4cm 430. 05+529. 60 m2 959. 65 960
Wy As 959. 65%0. 04 m3 38. 39 38
W=15
X T ENET T =S E)) 842 m 168. 0 168
W=15
B R =D 6.0 m 6.0 6
W=15
X R EPACES 4.0 m 4.0 4
W=15#%
X R T 6.0 m 6.0 6
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T f | AR B | % FHRE HAL | %K WO A MR | WO
[P FH N
AT gt 1l 2. 2%109%0. 24 m3 57.55 58
FEE 4.0k mBLT 2. 2%109%0. 24 m3 57.55 58
AT B3 T 1 = 1.0 1
TR | t=20cmll T 2. 2%109 m2 239. 80 240
b [ t=15emPLF 3.045.0 m 8.0 8
AEERUE L | t=15ecmBL T 601. 93-239. 80 m2 362. 13 362
R 601. 93-239. 80 m2 362.13 362
EdT t=4cm 601.93 m2 601.93 602
sy As 362. 13%0. 04 m3 14. 49 14
W=15
X iR T i | EH (F) 109 m 109. 0 109
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T FE | fE B | & 5 HAL | % B | HMAEXE| M =%
s N
LS T LU | t=15emPLF 4.6 m 4.6 5
AfEEUE L [ t=15emPL T 721. 05 m2 721. 05 721
NS 721. 05 m2 721. 05 721
= t=5cm 721. 05 m2 721. 05 721
JA%an ¢ As 721. 05%0. 05 m3 36. 05 36
W=15#%
X iR T DX A oS A 218 m 218.0 218
W=15#%
N DSl RE =N 88 m 88.0 88
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+T Eid:1l 0. 12:100. 0 m3 12.0 12
FEE 4.0k mBLT 0. 12%100. 0 m3 12.0 12
EE T [ kmEy 0. 5%100. 0 m2 50.0 50
HEA T 0. 10%1. 33%100. 0 m3 13.3 13
i 0. 5%100 m2 50 50
e T LIl [ t=15emPLF 1. 0+1. 0+100. 0 m 102. 0 102
AEERUE L | t=15ecmBL T 1. 0%100. 0 m2 100. 00 100
R 0. 7%100. 0 m2 70. 00 70
EdT t=4cm 1. 0%100. 0 m2 100. 00 100
AR T t=20cm 0. 35%100. 0 m2 35. 00 35
sy As 100. 00%0. 04 m3 4.00 4
W=15
X iR T i | EH (F) 100 m 100. 0 100
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LS T LU | t=15emPLF 5.1 m 5.1 5
AfEEUE L [ t=15emPL T 5. 1%30. 0 m2 153. 00 153
ARpEEEIE 5. 1%30. 0 m2 153. 00 153
= t=4cm 5. 1%30. 0 m2 153. 00 153
Wy As 153. 00%0. 04 m3 6. 12 6
W=15
EXE DX A FE (A 30 m 30.0 30
W=15
X EPACES 4.0 m 4.0 4
N WA AN M 0. 3%30. 0 m2 9.0 9




